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GENERAL ENGLISH

In the following questions, out of the four alternatives, choose the word which
best expresses the meaning of the given word.

1 INSOLENT
(A) DISTASTEFUL
(B) IMPATIENT
(C) DIABOLIC
(D) RUDE

2 Magniloquent

(A) Amusing
(B) Humorous
(©)  Boastful

(D) Intelligent

3 Yokel
(A) Intrigue
(B) Simple-minded
(C) Victorious
(D) Noise

4 Imbecile

(A) Sane
(B) Astute
(C) Foolish
(D) Aid

5 Epitome
(A) Precise
(B) Summary
(C) Spurn

(D) Exemplar

Read the passage carefully and select the best answer to each question out of
the given four alternatives.
Transactional Analysis has the triangle of PAC. P means parent, A means adult, C
means child. These are your three layers, as if you are a three-storied building. The
first floor is that of the child, the second floor is that of the parent, the third floor is
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that of the adult. All three exist together. This is your inner triangle and conflict. Your
child says one thing, your parent says something else, and your adult, rational mind
says something else. The child says ‘enjoy’. For the child, this moment is the only
moment; he has no other considerations. The child is spontaneous, but unaware of
the consequences — unaware of past, unaware of future. He lives in the moment. He
enjoys — but his enjoyment is not creative, cannot be creative. He delights — but life
cannot be lived only through delight.
You cannot remain a child forever. You will have to learn many things because you
are not alone here....The child has to be disciplined — and that’s where the parent
comes in. The parental voice in you is the voice of the society, culture, civilization;
the voice that makes you capable of living in a world where you are not alone —where
there are many individuals with conflicting ambitions, where there is much struggle
for survival, where there is much conflict. The parental voice is that of caution. It
makes you civilized. The word 'civil’ is good. It means one who has become capable
of living in a city, who has become capable of being a member of a group, of a society.
It is needed. And then there is the third voice within you, the third layer, when you
have become adult and you are no longer controlled by your parents; your own reason
has come of age, you can think on your own. And these three layers are continuously
fighting. The child says one thing, the parent says just the opposite, and the reason
may say something totally different. There is no necessity that your adult mind agrees
with your parents.
Many times you find them very dogmatic, superstitious, and believing in foolish things,
irrational ideologies. Your parent says do it, your adult says it is not worth doing, and
your child goes on pulling you somewhere else. This is the triangle within you.

Whom do we find dogmatic many times?

(A) Parent
(B) Child
(C) Adult

(D) All of the Above

What is the triangle within us?

(A) We are like a three storied building where in the first floor is of the child, the
second floor is that of the parent and the third floor is that of the adult.

(B) The child is spontaneous, the parental voice is that of a caution and the adult
has himself come of an age.

(C) Whenever you want to do something-your parent says do it, your adult says it
Is not worth doing and your child goes on pulling somewhere else.

(D) Our parent makes us sensible, our adult makes as rational and disciplined and
one child makes us carefree.

Why you cannot remain a child forever?
(A) Because you are not alone here.

(B) Because you have to become a parent
(C) Because you have to be disciplined.
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(D) Because you have to become capable of living in the city

What happens when you become an adult?

(A) Being an adult gives us a vision and a mission.

(B) Being an adult we are no longer controlled by our parents.
(C) Being an adult the child inside you gets lost somewhere
(D) Being an adult gives you strength to fight against all odds.

10 According to the passage, you are not capable of being a member of a

group, of a society until you become
(A) Parent

(B) Civil

(C) Dogmatic

(D) Audacious

In the following questions, one part of the sentence may have an error. Find
out which part of the sentence has an error. If the sentence is free from error,
click the "No error" option.

11

12

13

Could she cite (A)/ any precedent in support (B)/ for her case? (C)/ No
Error (D)

OO ®@>>

The General Manager of the industry has felt (A)/ that there is no use of
(B)/ discussing about the problems with the laborers. (C)/No Error (D)

(A) A
(B) B
(G C
(D) D

She enquired from the stranger (A)/ who was he and (B)/ what he
wanted from her. (C)/ No Error (D)

(A) A
(B) B
(€ ¢

(D) D
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14 I always enjoy (A)/ to read (B)/ books (C)/ No Error (D)
(A) A
(B) B
(C) - €
(D) D

15 Neither of the scout leaders know (A)/ how to trap wild animals (B)/ or
how to prepare them for mounting (C)/ No Error (D)
(A) A
(B) B
6 T
(D) D
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PART-II
ACCOUNTS & OFFICE PROCEDURE

Which of the following states that insignificant events need not be
recorded:

(A) Consistency Concept

(B) Conservatism Concept

(® Money Measurement Concept
(D) Materiality Concept

et F @ o7 W7 7 waa § R arTgcaut gt F &t gl A S e
(A) Farfar 3raeRom

(B) FFEaTe TUROT
(®) HET A HTEROT
(D) e ar 3aURoT

Ascertain cost of goods sold from the following figure:
Opening Stock:  Rs. 8500

Purchases: Rs. 30,700

Direct Expenses: Rs. 4,800

Indirect Expenses: Rs. 5,200

Closing Stock: Rs. 9,000

(A) Rs. 40,000
(B) Rs. 32,000
(©) Rs. 35,000
(D) Rs. 41,450

PreAfafaa s @ 9t 1§ FEIIHT T ARTT FT TaT FAAT:
IgHTes €eiF: Rs. 8500

wlg: Rs. 30,700

yegaT <94 Rs. 4,800

IyeaaT <g4: Rs. 5,200

THATI €2iw: Rs. 9,000

(A) Rs. 40,000
(B) Rs. 32,000
(®) Rs. 35,000

(D) Rs. 41,450
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Interest is debited to asset account in

(A) Annuity Method

(B) Depreciation fund Method
() Written down Value Method
(D) None of the Above

&7 &Y uREfy @ 7 3fve P amar &
(A) arfier fafer

(B) Houerd Ay fafy

©) Feu fafer fordr

(D) g1 | @IS HT FET

Depreciation is a process of which one of the following ?

(A) Valuation of assets

(B) Allocation of acquisition cost over the estimated useful life of the
asset

(C) Allocation of realizable value over the estimated useful life of the
asset

(D) Estimating the market value of the asset on the balance sheet date

Aeusw rafaf@a & & e o afear §2

(A) Tafdr & Hedidhe

(B) YT & HeTATT ITA SHaet 9T HTRIGOT BT ST T 3TeesT
(© U & HFATTAT 3TN Sfiaat R agelr Ao Hed &1 3dc
(D) o offe fafy o3 aReaf & e Foa &1 A7 et

A particular firm provided the following data for a year—
Current Ratio 2e5: 1

Liquid Ratio 1e5: 1

Net Working Capital : Rs. 3,00,000

What are the current assets and current liabilities of this firm,
respectively ?

(A) Rs. 3,00,000 and Rs. 1,50,000
(B) Rs. 5,00,000 and Rs. 2,00,000
(©) Rs. 2,00,000 and Rs. 5,00,000

(D) Rs. 3,00,000 and Rs. 1,00,000



21

22

8

oF B 3 UF a¥ & v feafat@d 3o vare -
qAAT He[aTT 2 0 5: 1

HTETHET:‘:I'IHI e5:1

e afdr HMea: Rs. 3,00,000

wqﬁﬁméﬂﬁrﬁtaﬂmmm&wiﬁ

(A) Rs. 3,00,000 and Rs. 1,50,000
(B) Rs. 5,00,000 and Rs. 2,00,000
(C) Rs. 2,00,000 and Rs. 5,00,000
(D) Rs. 3,00,000 and Rs. 1,00,000

The net profits of a business after providing for taxation for the past five
years are Rs. 80,000, Rs. 85,000, Rs. 92,000, Rs. 1,05,000 and Rs.
1,18,000. Capital employed in the business is Rs. 8,00,000. Normal rate
of return is 10%. What is the value of goodwill on the basis of
capitalization of super profit method ?

(A) Rs. 1,00,000
(B) Rs. 1,50,000
© Rs. 1,60,000
(D) Rs. 1,80,000
ey g qut & AT HOUTE TG FA & a1G R SqTE T G A1 Rs.

80,000, Rs. 85,000, Rs. 92,000, Rs. 1,05,000 3 Rs. 1,18,000 g3 &
e # FrTE Got Rs. 8,00,0001 Reet 1 FRTR2 & 10% §1 YR Fiwe
fafer & GSiIeAOT & TR TR HEHTEAT T Hed F1 52

(A) Rs. 1,00,000
(B) Rs. 1,50,000
(©) Rs. 1,60,000
(D) Rs. 1,80,000

The following information is disclosed by ‘A’— Rs. Provision for doubtful
debts as on 1.1.2006 : 6,000 Bad debts written off during the year 2006
: 1,200 Total debtors as on 31.12.2006 : 80,000 A provision for Doubtful
Debts to be made @ 5% What is the amount to be shown on the credit

side of P/LA/c?

(A) Rs. 4,800
(B) Rs. 2,400
(C) Rs. 1,200

(D) Rs. 800
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foreT SR A’ EERT Y A ST 1§ wort w1 gt 1.1.2006 F:
Rs.6,000 ; @@ %t 0T a¥ 2006 & aRrer for@r arar & Rs. 1,200; FeT
&sTGR 31.12.2006 : Rs. 80,000; HR7tr :oT & AT wratne @ 5% fvar ar ;
P/ LA / c % %f3c vaT ) q2T$ o=t arelt qfer a7 2

(A) Rs. 4,800
(B) Rs. 2,400
© Rs. 1,200
(D) Rs. 800

Which of the following statements is/are correct ?

1. Internal control includes quality control.

2. Internal control is compulsory for all forms of business organizations.
3. Internal control helps external auditor to design suitable audit
programme for client’s organization.

Select the correct answer using the code given below—

(A) 1 Only

(B) 2 Only

{8 3 Only

(D) 1 and 3 Only

R d s msua it/ &2

1. yiraRer =0T 3 aporaen favaior enfarer &1

2. g3 ¥R & ST Haresl & v srafs Agaor sifaar #
3.mﬁwma‘mﬁm$m$mmmm
TR F A Agg Far g

AT T T FZ FT ITAVT FIF TE I FT TAT FL-

(A) &had 1
(B) Fad 2
© ael 3
(D) Fael 1 & 3

If an expense on major repairs of a machinery purchased second-hand
has been debited to repairs account, it involves :

(A) An error of commission
(B) An error of Omission
(C) An error of principle

(D) No error



25

26

10

IR el quifer @Y or€ Al Y 9 wvewa W e 7 sowT S @ A 2R
T arar &, aY 39 et anfarer

(A) Wﬂamﬁwg‘f&
(B) T &I T qfe
© ﬁaﬁiﬁﬁwg’%

(D) IS ITETAT LT

Rent of Proprietor’s residence amounting Rs. 6000/- was debited to
Rent Account. The error was noticed and a Journal entry rectifying the
error has to be posted. What are the accounts head involved in rectifying

entry:

(A) Miscellaneous A/c and Rent A/c

(B) Drawing A/c and Rent A/c

(© Building A/c and Rent A/c

(D) There is no error in the original entry

SIS TR & A 1 RArT §1 6000 / - fTv & @1 # 2fae R e o) e
Mﬁmgﬁﬁgmmmqﬁﬁzﬁmmmlﬁﬁew#
AT 7S 7 §:

(A) fafay @rar 3R fmmar @mar

(B) TEROT @rar AR T @rar

©) fafeser @rar ik fsar @rar

(D) 7 afafee 7 #1g 3fe 7@ &

Which of the Following statement is True?

1 Any expenditure which is unreasonably large is Capital
Expenditure

2 Amount paid for acquiring Goodwill is Capital Expenditure

3 Amount obtained on Sale of fixed asset is an example of
Revenue Receipt

4 Wages paid for erection of a new Machine is usually debited
to Wages account

(A) Only 3

(B) Only 2

(© Only 1 &2

(D) Only 1 & 4

AR sl mrm a2
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1 BIS 3ft 7 S HRAT w9 F 737 8, 7w oo s @

2 TSTAT T FA & AT sperar 1 7€ TRy gohera s #

3 3reret Fafer AT i W oo 0fer oee ®g F1 v e

4 waémﬁaaﬁamﬁﬂ:ﬁmw#aémq&mﬁrww
T # 3fae Yy s

(A) Sael 3

(B) hadl 2

(© haet 1 3R 2

(D) Fad 1 3R 4

The loss on Sale of Motor Car is debited to

(A) Motor Car Account
(B) Depreciation Account
(®) Sales Account

(D) None of these

HICY FR 1 AT T g THam &1 3 fvar smar  ------- )

(A) HIeT F @rar
(B) HeTgTH @i
©) fawa @rar

(D) T W IS oL

Income Tax paid by a Trader is shown

(A) On the debit side of Trading Account

(B) On the debit side of Profit and Loss Account

(C) By way of deduction from the Capital in the Balance Sheet
(D) None of the Above

U SATIRY G@RT $3TaTet T aram sy R o

(A) ¢fS9r 3rEe & 2T g ux
(B) a1 IR g1l @i F 2T ger oy
© oid e A I @ Fldh & Aremm @

(D) T T I ALY
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Indicate the impact of “Drawings” appearing in the Trial Balance in the
Balance on the profit and Loss Account. Point out by Way of "PLUS” or
“MINUS” with the side on which it appears:

(A) Debit PLUS
(B) Credit MINUS
(©) Credit PLUS
(D) No effect

st 3t 1Y wT R Ay U A o o F wefia "ameRer” & wara F §d F
31 aX® I¢ T AT @ 3% 9% "PLUS" A1 "MINUS" F & Y AT AT § TE

sfora #1:

(A) 2fge o &1 e
(B) $fT Hor |
© Ffge U &1 e
(D) FIE FHTT AT

The annual instalment to Depreciation fund for replacement of a Fixed
Asset is

(A) Charged against Profits

(B) An appropriation of Profits
(© Entered as a separate entry
(D) None of the Above

fres Tle & wiawume & forw Aegera AR i o forea &

(A) HATS & e g
(B) Wawf&ﬁw
©) T 37197 Ufafse & T & ot foham aram

(D) SAH H Pls ol 60

Interests receivable on Investments by a Institutions will be shown on:

(A) Assets side of the Balance sheet

(B) Liabilities side of the Balance Sheet

(®) On the debit side of the Income & Expenditure Account
(D) On the credit side of the Income & Expenditure Account

UE FEUT G@RT fA3e 9X UTCT ST &Y gl fq@raT AT
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(A)
(B)
©
(D)

Sog e FT a7 W}

Joig ¢fic & gIfdca g&7 «

3T AR T @ra & 3fae 9 W
3T 3R I @A F #Hige 987 W

A limited company makes a net profit of Rs. 2,00,000 after writing off
preliminary expenses amounting to Rs. 20,000 and providing for
depreciation on assets amounting to Rs. 40,000 and gain of Rs. 10,000
on sale of a piece of machinery. What are the funds from operation ?
(A) Rs. 2,00,000

(B) Rs. 2,40,000

(®) Rs. 2,50,000

(D) Rs. 2,60,000

v i S+ Rs. 20,000 YR 07 F @i w3 & a1 3R dufr
HAeuer ™ & faT ¥ 40,000 wera #¥a 3R v efierdy iy fash ¥ T92 10,000 F
T FATA & a6 T 2,00,000 FT G ATH FATAT ¢ | 3T XU & €T F47 §2
(A) Rs. 2,00,000

(B) Rs. 2,40,000

©) Rs. 2,50,000

(D) Rs. 2,60,000

Consider the following items that are disclosed in a statement of cash
flows—

1. Cash flow from operating activities.

2. Cash flow from financing activities.

3. Closing cash and cash equivalents.

4. Cash from investing activities

What is the correct chronological order of their disclosure of the above
cash flows ?

(A)
(B)
©)
(D)

FAHGY TATE & T a9 H gian gan fafafde aef w fam w-
1. AT afafaftat @ = yare]

2. faaryor srfafafaat & s vagl
3. TATY dAdhar I THhdr gHEFa |

B 0 1 S
L7 [ N o O O
P o I
L ST O I

|
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4. Fayr afafafat @ awg
IRIFH ARG TATE & SeTdh THCIHI0T I WG HIeATTH NS HH FIT §2
(A) 2 el s
(B) § i i B w3
(C) P
(D) 1=8-0-4

Sometimes an auditor is called upon to review the operations of an
enterprise for evaluating their cost-effectiveness. What is this kind of
audit generally known as ?

(A) Cost audit

(B) Operations Audit

(©) Tax Audit

(D) Independent Financial Audit

Fafl-sit et HIBET H1 37T SmTa-wemafiere & Feana & e feeh sz &
HeTereT 1 FHIET T & T FgT o1 &1 37 e F 3R F AR W Rew A

A ST ST 7

(A) AT T geTT

(B) FATe oI@T q{IeTT

(©) &g 3ifse

(D) Taa¥ o orr gdieT

Match List-I with List-II and select the correct answer using the code
given below the Lists—

List-I (Technique of Auditing)

(a) Vouching

(b) Verification

(c) Investigation

(d) Valuation

List-II (Explanation)

1. Itis an enquiry into the value, ownership and title of assets

2, It is testing of the exact value of an asset on the basis of its utility
3. It is the verification of authority and authenticity of transactions as
recorded in the books of accounts

4. It is an examination of accounts and records of a business concern
with some special purpose

Codes : (a) (b) (¢) (d)
(A) 3 2 4 1
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(B) 4 43 2
(C) 3 k4 2

(D) 4 23 1

Tl 11 & \rer - 1 o fvomer ¥ 3k wferat & o R ore 1 &7 saaiir o
HEY 36 oA

- I (3rFaTor Y Teite)

(%) asfar

(b) weaTIT

(c) s

(d) \1eT ‘

- I (FTsdranvor)

1. 7F IRE9ferET & qew, Fafdea s ok # o @
2.ﬂg&ﬂﬁﬁBWﬂﬁaFnéiﬂﬂHTQTf#ﬂﬁ?ﬁﬁ%ﬂ?ﬁfﬁﬁ?ﬁﬂTQHthﬂWEﬂWEH?
3.agqﬂﬁaﬂvﬁaﬂ$ﬁwmmaaﬁ¢#ﬁﬁsf#ﬁqnmﬁﬁmaT%Shnf%wrﬁﬁ#ﬁgFam¥ﬁ
aof e aram &
4.ﬁ?gﬁ;ﬁﬁh#33??#5#IﬂﬂaﬂﬁﬂﬂﬁﬁF?ﬁﬁﬁ?%1?Eﬁ3ﬁ?ﬂﬁﬁ?#ﬁﬂﬁ?qﬂﬁﬂg
FIs: (a) (b) (c) (d)

(A) 3 24 1
(B) 413 2
(©) 344 3
(D) & 33 1

What is the method in which an amount equal to the amount written off
as depreciation is invested in outside securities in order to facilitate
replacement of an asset at the expiry of its life period, called ?

(A) Annuity Method

(B) Sinking fund Method
(€] Replacement Method
(D) Depletion Method

aF fafer & § o ewew & wo @it 1 71 TR & T R a7 Ay
qﬁnﬁ%ﬂﬁifﬁﬁhr#ﬁanéT%EﬂﬁF3aﬂ?dﬁﬁtmﬁq#ﬁznwﬁﬁ#qwf%nﬁzﬁﬁ%a?

wfeeuTdeT #r ghaer g2
(A) arfShr fafey
(B) sach Bt fafey

(©) gfaeemue fJfer
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(D) geradta fafer

Government grants related to income as per the Accounting Standard
(AS)-12 should be—

(A) Presented as a credit in the statement of Profit and Loss

(B) Presented as a deferred income on the asset side of the balance
sheet

(©) Presented as a capital grant on the liability side of balance sheet

(D) Presented both in the Profit and Loss statement and in the balance
sheet

AW AF (TTH) -12 F AR AT F G T TR HAGTT HY Fgl G ST
afge-

(A) oY R g1 o ST H Teh shiSeT o T H e T

(B) dol e & TR T&T T T IMEATIT 31T & T H T fomar a1
(©) Sele e & AT 98T W Yol 3iele & &9 H Tedd fohar aran

(D) Hifthe Us ol FeeHe AR doid <fe atat # weda famar aram

Income and expenses for the year 2006 are—

Fee Received in Cash — Rs.24,000

Accrued Fee — Rs.6,000

Rent for Chamber Paid — Rs.6,000

Outstanding Rent — Rs.2,000

Salary Paid to Staff — Rs.6,000

Miscellaneous Expenses Paid — Rs.200

Salary paid in advance to staff included in the above : Rs. 1,000.
What is the income under accrual basis ?

(A) Rs. 11,800
(B) Rs. 13,200
(© Rs. 16,800
(D) Rs. 30,000
a¥ 2006 ¥ T 3m 3l =57 §-

g H 9o e - Rs.24,000
3uTfaa e - ¥ .6,000

dex 93 ¥ farw T - Rs.6,000
14T fHI4T - Rs.2,000
FHAIRET HI delel I - T .6,000
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fafaey =37 - Rs.200
IREa & anfarer saaial i 3 sErae: 31 11,0001

WesTae HTUR 9T 37T F41 572
(A) Rs. 11,800
(B) Rs. 13,200
(€) Rs. 16,800
(D) Rs. 30,000

Expenses need to be recorded in the period in which the associated
revenues are recognised. This is to be ensured as per which one of the
following accounting principles ?

(A) Revenue recognition
(B) Cost benefit

(C) Matching

(D) Periodicity

= 37afl 3 o oot FFT STy oY TaeTEar g § forwe gafta Tered #Y Atedar
& o &1 77 Pt dwie ey & ¥ s JqaR giafvad far sme

22

(A TSTET =TT
(B) AT AT
(© Aol e
(D) srafear

Below there are two statements, one labelled as the ‘Assertion’ (A) and
the other as ‘Reason’ (R). You are to examine these two statements
carefully and select the answers to these items using the codes given
below—

Assertion (A)—Income tax paid is not shown on the debit side of the sole
proprietor’s Profit and Loss account.

Reason (R)—1It is an appropriation of profit and thus goes to Profit and
Loss Appropriation Account.

(A) Both (A) and (R) are individually true and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are individually true but (R) is not the correct
explanation of (A).

(9] (A) is true but (R) is false.

(D) (A) is false but (R) is true.
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At @t FueT R ot ¥, e @ oF & af@eue (A) 3R gEX # ‘Reason’ (R) &
& 7 Farer Rt 71T | 37T 57 A HUaT Y WrauEgEs S # AR AN faw e
FYS T 3TLNT & 57 AT & Ia] HT I FL-

W(A)-Wmmwﬁmmﬁmﬂ;waﬁraﬁmﬁ*

e ey ux 7t BT Far §
FROT (R) - T§ o137 1 U Raforator § 3R g@ wor amer 3 grfer RfAaor @ &
ST 21

(A) 25t (A) 37 (R) afeFaera &9 @ TEr ¥ 3R (R) (A) F1 #Er sarean &

(B) art (A) 3R (R) cafaaera &9 & T9 & Afda (R) (A) HT HET FISERIOT
AT &

© (A) T= & aAferet (R) T &

(D) (A) 7T € et (R) T &

Current ratio is increased by

1. issue of redeemable preference shares.

2. selling of old furniture for cash.

3. cash realized from debtors.

Which of the statements given above are correct ?

(A) 1 and 2 only
(B) 2 and 3 only
(©) 1 and 3 only
(D) 1, 2 and 3

foreer & & RFE® q@RT TAHATE U A Fafer 1 SIrell §
1, vfaeT adaar =t &1 I FE=

2. Al ¥ T QU GelTer T skl

3. &AER ¥ AFal wifed

sR BT HT ¥ FuT a2
(A) ool 1 3R 2
(B) et 2 31 3
© Fad 1 3R 3

(D) 1,233
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Dividend paid by a Trading company is classified under which kind of
activity while preparing cash flow statement

(A) Cash flow from operating activities

(B) Cash flow from Investing activities

(C) Cash flow from Financing activities

(D) Cash Equivalent
mﬁ%ﬂmm%mﬂmmﬁummmmmmﬁm
TR T AR & e aoflea Rear omar

(A) Tt AT & Fhe garg

(B) fraer aifafafert & 7y varz

(®) faaiyor arffaferat & Fodr vae

(D) e & I

In case debentures of Rs.10,000 are issued at par but payable at 3
Premium of 10%, the premium payable will be debited to

(A) Debentures Suspense account

(B) Premium on redemption of debentures account

(©) Loss on issue of debentures account

(D) Both (A) and (C)

3T ¥ 10,000 H1 f3awR s9e¥ o Y fvw o1 & et 10% & NMAgr gy
819 &, at &7 hifraer =1 2fRe Rsar smoe

(A) SR gy sremse

(B) B3R @ & faaesT 97 fiffy

(©) F9aY @ & S R

(D) gI=t (A) 3R (C)

Solvency ratio is

(A) debt equity ratio
(B) current ratio

(®) quick ratio

(D) Current assets

(A) HOT el 3reyarer

(B) a?im:ra@ma
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(© cale 3equra
(©) TN FT

On November 1, Delphi Corporation sold merchandise in return for a 7%,
90-day note receivable in the amount of Rs.30,000. What does the proper
adjusting entry on December 31 (the end of Delphi’s fiscal year) include?

(A) Credit to Interest Revenue of Rs. 350
(B.) Credit to Notes Receivable of Rs. 525
(. Debit to Cash of Rs. 350

(D.) Debit to Interest Receivable of Rs. 175

1 et F ST FTAR F 7,000 T F T 7%, 90 ¥ Ale F agd # 30,000
T3 Y R & A a9Tl 31 BEeR (R F T a¥ F ) A 3R gAEe
giafee ar nfde €2

(A) SITST TSTEd I hise TAT 350
(B) Ay wfed T Hise & 525
©) e 3T 99 350

(D) TS wifeT &1 3f&e ¥ 175

Consider the following statements—

Audit working papers are maintained because

1. they act as a guide to subsequent audit.

2. they verify the arithmetical accuracy of the books of accounts.
3. they provide evidence of the work performed by the auditor.
Which of the statements given above are correct ?

(A) 1 and 2 only

(B) 2 and 3 only

(C) 1 and 3 only

(D) 1,2and 3
Prfafld Fy« W) R #1-

(e FE — ol AT TAC IWT ATl ¢ FiH

1. ¥ 91E ¥ Hif3c F AT v Apigds F 7 F F1d = &

2. & WA 1 EAH! I HHATONAT FEFT HI TeAIT FI €1
3. AW a7 GERT T 1T T FT FHIT F&T 3 ¢

YT BT 7T FleT § FUT TE 82

(A) *had 1 AR 2
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(B) Fad 2 313
(&) Fao 13k 3
(D) 1,231 3

At the balance sheet date, the balance on the Accumulated Provision for
Depreciation Account is,

(A) Transferred to Depreciation Account

(B) Transferred to the Asset Account

(®) Transferred to Profit and Loss Account

(D) Simply deducted from the asset in the Balance Sheet

& ofie 1 ardiw A, Aegew @ F v §fa wauer W) Ay Iy Fi ----- T
ST &

(A) el W H TR

(B) TUC HF3E H TTAFL

©) o8 3R g1l @ra & TR

(D) 7 Joiw e # Fufd & Feldl & Sl §

The measure of how efficiently the assets resources are employed by the
firm is called

(A) Liquidity ratio

(B) Leverage ratios
(C) Activity ratios

(D) Profitability ratios

TH q@RT HIRY & HETUET FY fraelt Farerar & e fear smar §, s A1 w5
ST &

(A) AT T AT

(B) 3eilelel HedTd

(®) afafe sreare

(D) CIEEECIEGRI

A current ratio of and above indicates that the availability of

sufficient net working capital and the ability of the firm to meet current
liabilities.
(A) 1.33:1



50

51

22

= o B

1.44:
(© 1.55;
1.66:

3R 3R HTF FT FAATT HFUTT ST Fam & o a3Ted yeu Friede
gt Y 3TEetrar AR adATT SAGTRET H1 G 4 & farw wat =y araan|

(A) 1.23:1
(B) 1.44:1
(© 1.55:1
(D) 1.66:1

What is the amount of gross profit/loss when opening stock is Rs.
18,000, purchases Rs. 78,000, cost of goods sold Rs. 1,06,000 and sales
Rs. 1,49,0007?

Rs. 44,000 profit

Rs. 44,000 Loss

Rs. 43,000 profit

Rs. 43,000 Loss

IR 3RA+ F&is Rs. 18,000, @ Rs. 78,000, T AT HY 7914 Rs.
1,06,000 3K fasT Rs. 1,49,000 & @ g5 a137 / g Ay uiRr #4782

(A) Rs. 44,000 3T S8
(B) Rs. 44,000 T ehaT
© Rs. 43,000 T &TeT
(D) Rs. 43,000 T e

The cash flow statement consists of which of the following sections?

(A) Operating and non-operating

(B) current and non-current

{(®) operating, investing and financing

(D) trading and financial

ST waTg favor F Reafafla & @ ia w1 @ afaa 82
(A) Hrofear 3R IR-FHTR T

(B) gaAd 3R R-adaT=T

(9) FaTers, e A Ragyor

(D) IR 3R fad
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Few items of P/L A/c of a company are—
Sales — Rs.1,60,000

Closing stock — Rs.38,000
Non-operating Expenses — Rs.800
Non-operating Income — Rs.4,800

Net Profit — Rs.28,000

What is the Operating Profit Ratio ?

(A) 18%
(B) 20%
(©) 15%
(D) 57%

foret Foelt & amer 3R gt WA F F 1A §-
f¥#r - 1,60,000 7

FeITIT T&1% - Rs.38,000

dR-3imq¥fes =77 - Rs.800

-3 feer 3 - Rs.4,800

A¢ gifthe - Rs.28,000

AT fEar wifthe Jeqara 41 82
(A) 18%
(B) 20%
(©) 15%
(D) 57%

The amount which is appropriated out of profit is

(A) Reserve

(B) Provision

© Depreciation

(D) Fund

o187 & e faafera ofr gl
(A) Rera

(B) qTaYTe

(®) Aodsrd

(D) @

Which of the following item gives tax benefit
(A) Creation of Secret Reserve
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(B) Creation of Capital Reserve

() Creation of General Reserve
(D) Creation of Provision

frrtataa # & Fie7 A avg T o e ¢

(A) e Nara 1 oo

(B) Sfea g #1 FamT
© A Rord &1 AT
(D) graeiTeT T fHaToT

Stock on the date of valuation is Rs. 2,70,000. It had been undervalued
by 10%. Actual value is .

(A) Rs. 2,77,000

(B) Rs. 2,97,000

(C) Rs. 3,00,000

(D) Rs. 3,07,000

Heaiwa $1 fafy @ wIF Rs. 2,70,0001 I& 10% FH Ao ¥ HedTha (a1 4T
UT| W AEATIH Ao gl

(A) Rs. 2,77,000

(B) Rs. 2,97,000

() Rs. 3,00,000

(D) Rs. 3,07,000
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V6+V6+V6+... is equal to

Wb N

V6 + V6 + V6 +... FT A&
2

5
4
3

A can do a piece of work in 24 day, B in 32 days and C in 64 days. All
begin to do it together, but A leaves after 6 days and B leaves 6 days
before the completion of the work. How many days did the work last?

15

20

18

30

A TRH 17 #1 24 71 #, B 32 B # 3 € 64 =1 & g0 ww wwa §1 weft 5w
T HTT HTAT YE FIA ¢, dfher A 6 RATF ag oz a3k B smrquga &

6 fosT uger B3 a1 §1 fFas R=Y & &1 Tar?
15
20
18
30

The total monthly salary of 4 men and 2 women is Rs. 46,000. If a
woman earns Rs. 500 more than a man, what is the monthly salary of a

woman?
6500
7500
8000
9000
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4 7ot 3iX 2 Afeas #1 $o AAF da Rs. 46,000 T gfy F1$ Afger o
Frarelt 1 e # Rs. 500 310 HAT § &Y v Al 1 AT AT F41 82

6500
7500
8000
5000

Two pipes A and B can separately fill a cistern in 60 minutes and 75
minutes respectively. There is a third pipe in the bottom of the cistern
to empty it. If all the three pipes are simultaneously opened, then the
cistern is full in 50 minutes. In how much time the third pipe alone can
empty the cistern?

80 MIN

100 MIN

110 MIN

120 MIN

Y ursy v 3R ) werer: 60 e 3R 75 Aee & 39T § v S SR TS 81 3
T F F AT e & A e fraw aee § I asi fiw 9 o Ty e
ST ¥, &t 50 feTe 3 ST QU1 R ST ¥ e TAT H Hhel A sy &
Grell FT FhdT &2

80 fAee

100 e

110 =T

120 fA=e

By selling a bag at Rs. 230, profit of 15% is made. The selling price of
the bag, when it is sold at 20% profit would be

Rs. 250

Rs. 205

Rs. 240

Rs. 200

Rs. 230 3 T&F 397 4w, 15% T 19 81T £, ST9 38 20% 17 9 a97T ST ¢
AsgdTH R AT

Rs. 250
Rs. 205
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Rs. 240
Rs. 200

The average salary of male employees in a firm was Rs. 5200 and that
of females was Rs. 4200. The mean salary of all the employees was Rs.
5000. What is the % of female employees?

80%

20%

40%

30%

UH BH H 9O FAARE! 1 3taa a9 Rs. 5200 ¥ 3k Afgemat #1 Rs.
4200 &1 mf’rmﬁmﬁﬁmfﬁmaﬁmaﬂ Rs. 5000 &1 ®H & #ARRaT
FHATRAT T % (TfAra) fraa 22

80%

20%

40%

30%

The difference between simple and compound interests compounded
annually on a certain sum of money for 2 years at 4% per annum is Rs.
1. The sum (in Rs.) is:

620

625

630

635

2 9 & fad & T 4% 9fa af s9rer a7 & e fBrafarg ofr o g sic

THIGIY AT & €T F1 HaT Rs. 1. &1 F&Ra ofr (Rs. #) &

620
625
630
635

The cost price of 25 books is equal to the selling price of 20 books. The
profit percent is

20%

22%

24%
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25%

25 qEaw! 1 AT A 20 TP F AT qed F aTa g1 A g §

20%
22%
24%
25%

An agent gets a commission of 2.5% on the sales of cloth. If on a
certain day, he gets Rs. 12.50 as commission, the cloth sold through
him on that day is worth

Rs. 250 :

Rs. 500

Rs. 1,150

Rs. 1,250

TF TIT F FI2 H A 9T 2.5% 7 FAwT Baar &1 a2 = @fteg Rs w,
g€ Rs. 12,50 FHIUST & T H FATAT ¢, 39 & 30 ATCTA | 9 3T FI3 F7

e
Rs. 250
Rs. 500
Rs. 1,150
Rs. 1,250

If A exceeds B by 40%, B is less than C by 20%, then A: C is:
28:25
26:25
3:2
Azl

I A, BE 40% 30+ 8, B, CH20% FA ¢, aTA: C&:
28:25
26:25
32
331

The sum of three consecutive odd natural numbers each divisible by 3
is 72. What is the largest among them?
21
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24
27
36

FEAT WOTTel & 3HTeY aTel mmaﬁaﬁwwmﬂ%mﬁw&ﬁﬁ3#gﬁamm
¥ 7T 72 1 3 @ WOR 931 HEAT FA1 87

21
24
27
36

The least number which when divided by 4, 6, 8, 12 and 16 leaves a
remainder of 2 in each case is

46

48

50

56

e A TEaT 9w 4, 6, 8, 12 3t 16 T FfAd F 9 @S ATHA H 2 AY

@ AT
46
48
50
56

If 6 men and 8 boys can do a piece of work in 10 days and 266 men
and 48 boys can do the same in 2 days, the time taken by 15 men and
20 boys to do the same type of work will be:

6 Days

8 Days

5 Days

9 Days

afy 6 g 31K 8 e 10 Riwtt ¥ 3iv 266 Tow 3 48 w5 2 Rl F vF FH T
wHa §, ar 15 79 31 20 T3 q@aT T & G H1 HH T FA FFAT G
6 Days
8 Days
5 Days
9 Days
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11
+ =ttt
7 14 28 g equal to:

1. 3
T8 HeRd

The maximum number of students among whom 1001 pens and 910
pencils can be distributed in such a way that each student gets same
number of pens and. same number of pencils, is:

91
910
1001
1911

I HFaA BTEl 1 FEaT o €I 1001 97 3T 910 ¥« 57 g RaRka
ST EH ¥ B e o B A GEdT F S X 9 wrea g &

91
910
1001
1911



